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1. REBBEOE

(1) BEEIRE
AR EERL 210 1,057 A 847
EXREZEFR 210 1,057 A 847
ZIETE 100,000 200,000 A 100,000
ZM—ETE 100,000 200,000 A 100,000
E % g 34,707,100 4,430,280 30,276,820
BRF RN (FF00 51,920 1,754,880 A 1,702,960
PHEF ZET NG 466,500 400,800 65,700
REEFEZEETRNEG 34,188,680 2,274,600 31,914,080
THFHBIEF 21,703,217 22,034,864 A 331,647
AEHEEEMYR 20,900,217 21,231,864 A 331,647
BEEEHEDE 803,000 803,000 0
FEUR I 143,083 84,012 99,071
SZEFIR 150 97 23
Z DfthHEUR T 142,933 83,915 99,018
(FEEIREEET] 96,693,610 26,750,213 29,903,397

(2) BEEH
EXE 47,562,953 22,789,818 24,773,135
HBHFEy 13,299,899 12,330,725 969,174
RNEESE 18,678,407 94,622 18,623,785
EERHE 2,057,278 1,900,635 156,643
BAIELE 19,206 19,064 142
REEHLFHE 64,296 64,296 0
EESIHERALE 715,106 744,894 A 29,788
EHE 1,607,400 1,911,800 A 304,400
REXEE 1,073,292 959,452 113,840
BISERE 2,611,449 377,134 2,234,315
HEME 2,207,647 819,388 1,388,259
SHEY N 1,274,570 833,855 440,715
et 116,795 149,088 A 32,293
RREEEAN 168,500 173,661 A 5,161
HMENEKE 407,694 390,611 17,083
BiEE 422,400 125,400 297,000
B 2,553,690 823,142 1,730,548
[RER 3 < (RIFKR) 142,000 182,600 A 40,600
SRR & (FIF00 10,384 346,728 A 336,344
SHRFBRMAE FIF0 15,840 535,360 A 519,520
MR ER 61,000 0 61,000
#E 96,100 47,363 8,737
BAmEAE 0 0 0




LEE BIEE tim

EBE 2,602,929 2,620,087 A 17,158
HBREFH 1,424,496 1,434,720 A 10,224
AERNE 213,248 227,735 A 14,487
BRELEE 2,301 2,284 17
BESHFHE 7,704 7,704 0
EESILEBEAL 85,684 89,254 A 3570
MR EFFERAR 20,189 20,808 A 619
MR ENEKE 48,850 46,803 2,047
RERXEE 73,253 44,796 28,457
HERE 162,122 116,438 45,684
SIHELY N 154,110 149,270 4,840
BiEE 75,900 174,900 A 99,000
R H 4,380 3,880 500
iR TR/ S 4,250 1,200 3,050
BIEERE 11,299 22,005 A 10,706
& 71,111 78,743 A 7,632
EiEH 157,972 112,177 45,795
S 2IN=EEk 11,000 11,000 0
HE 75,060 76,370 A 1,310
BMERE 0 0 0
(BEZER] 50,165,882 25,409,905 24,755,977
[ AR E imAE]) 6,487,728 1,340,308 5,147,420

2. BEMEBOE

(1) BEHINEE
(BE s UREEET) 0 0 0

(2) BRENER
(BENER] 0 0 0
[LAARRH 5 8 EEE) 0 0 0
[ 24 #A— A% 1E R B EE 1 R %8 ) 6,487,728 1,340,308 5,147,420
(— AR ERBAE RS 8,245,245 6,904,937 1,340,308
(—ARIERKBAEBARI% = ] 14,732,973 8,245,245 6,487,728

I 157 ERREAEEIEBOED

(L4 £A45 % IE KB4 EE 14558 ) 0 0 0
(B ERBAESE%S] 10,546,000 10,546,000 0
({67 ERKBAEEIRI% =] 10,546,000 10,546,000 0
I EREIEHRES 25,278,973 18,791,245 6,487,728




